
EXERCISE 1-1          1-1 
 

 

1  LINEAR EQUATIONS AND GRAPHS 
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Multiply both sides of the equation by 3 to obtain: 

m - 12 = 2 

     m = 14 
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Multiply both sides by (-4) which will 

result in changing the direction of  

the inequality as well. 

 
20

6
x

−
>  and simplified we have 

10
.

3
x > −  

16. 3 9 13 8

2 9 13 8

6 4

4 2

6 3

y y y

y y

y

y

− + + = −
− + = −

=

= =

 

 

18.    -3(4 - x) = 5 - (x + 1) 

    -12 + 3x = 5 - x - 1 

    -12 + 3x = 4 - x 

12 - 12 + 3x = 12 + 4 - x 

          3x = 16 - x 

          4x = 16 

           x = 4 
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